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Section 1 - Online Examination

Question No.1 1.00

Bookmark
TeT TS} T IGH WA Tl 8?7

(A) O =1fer & e sdadhaR IoR - (Alternative 4)
(B) O ZshRug UsR - (Alternative 1)

(€) O dget S & gerars - (Alternative 3)

(D) O 3Reheeh TSR - (Alternative 2)

Question No.2 1.00

Bookmark
ORd # gRd shifa a1 ST1eh fohd AT ST 87

(A) O $ sfteror - (Alternative 4)

(B) O uH. vg WY - (Alternative 2)
(€) O =iffs gRa= - (Alternative 1)

(D) O Rrera=y gemoad - (Alternative 3)

Question No.3 1.00
Bookmark

g dteiRere HefiR fhe wRda a0 & 9 82
(A) O IWRraus - (Alternative 2)

(B) O fagRr- (Alternative 1)

() O fafewps - (Alternative 3)

(D) O IR w2 - (Alternative 4)

Question No.4 1.00
Bookmark

STRTIAT Thel 31t TheuaR fohd 4T h d¢ WR §=174T 74T g2
(A) O wierad 7 - (Alternative 1)

(B) O 7w <Y - (Alternative 2)

(€) O &y =d - (Alternative 4)

(D) O pwom 7t - (Alternative 3)

Question No.5 1.00
Bookmark

fafesr wiRa & ugett 3 e Telt?
(A) O 1858 - (Alternative 3)
(B) O 1773 - (Alternative 1)
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() O 1885 - (Alternative 4)
(D) O 1853 - (Alternative 2)

Question No.6 1.00
Bookmark
A 7 @ fopg @er A g &t arfi, foafdh, 3 ok ugm nfier gl &2
(A) O gidt - (Alternative 3)
(B) O atefiatel - (Alternative 1)
(C) O =agl- (Alternative 4)

(D) O wpeatd - (Alternative 2)

Question No.7 1.00
Bookmark
e HeaTg @1 e § @ fohg mgTdi @ gl ot 82
(A) O ufwr - (Alternative 1)
(B) O 3=t 3Rt - (Alternative 3)
(€) O 3irefem - (Alternative 4)
(D) O arshert - (Alternative 2)

Question No.8

1.00
. Bookmark
AT USR gl ([T &-

(A) O i - (Alternative 4)

(B) O geiferear - (Alternative 1)
() O Hifkar- (Alternative 3)

(D) O =M - (Alternative 2)

Question No.9 1.00
Bookmark

1793 #, =1l ehanferd 3 TRt sicted wal n faar?

(A) O dsire - (Alternative 1)

(B) O @ret - (Alternative 4 )

(C) O oy - (Alternative 3)

(D) O wHfeen - (Alternative 2)

Question No.10 1.00

Bookmark
3 Garee et auT den IUTRT g4 TR ITehT &1 81 ST §, ThedlTd o-
(A) O aFdfierzofig @9Te= - (Alternative 1)

(B) O “eftenzofta TareH - (Alternative 2)
(€) O 3rvrepfdes Tamem - (Alternative 3 )
(D) O 3IuRi=s goft - (Alternative 4)




www.prepp.in

Question No.11 1.00
Bookmark

Goft THiaR fohvol Grad AT S EHdd ddg § T o WRIAfdd g IR TR el Jgdl, I8 URIddd hgelldl o-
(A) O faafa wrad - (Alternative 3)

(B) O whivfig wrad= - (Alternative 2)

(€) O fAafaq wrad= - (Alternative 1)

(D) O 3nufad wRrad - (Alternative 4 )

Question No.12 1.00

Bookmark
T HA-FRIST oG h GIRT ST T TR SRS ehisl UT?

(A) O faferaw dfews - (Alternative 1)
(B) O ar+ 2f< 9 - (Alternative 2)
(C) O a1 et - (Alternative 3)
(D) O JeisTeft - (Alternative 4)

Question No.13 1.00
Bookmark

fohe Srgede & dgd THH AFTRS dfgar (UCC) et o fovar mam 8?2
(A) O argeds 44 - (Alternative 4 )

(B) O 3rq=a% 41 - (Alternative 1)

(€) O 3rg=c 42 - (Alternative 3 )

(D) O 3rg=< 43 - (Alternative 2 )

Question No.14 1.00
Bookmark

ST aeg & 1 F 3L S FEATARUT Sl UfehaT T ShgeTelt 82
(A) O JftwfeT - (Alternative 2)

(B) O fe=mfSfr - (Alternative 1)

() O =nfSfr - (Alternative 3)

(D) O aiff - (Alternative 4 )

Question No.15 1.00
Bookmark

1T ITRA U Tl s fafids (TISCO) fhaent IggRoT 8-
(A) O fastt &= - (Alternative 1)

(B) O ardwfaes &3 - (Alternative 2)

(€) O &=<yg grdsnfae &= 3Iushd - (Alternative 3)

(D) O 37 & I3 =gl - (Alternative 4)

Question No.16 1.00

Bookmark
"SHT I HTYUROT T &ATAT 82

(A) O ergffa - (Alternative 1)
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(B) O amafth - (Alternative 2)

(€) O 3rfa - (Alternative 4)
(D) O srgur - (Alternative 3)

Question No.17 1.00
Bookmark

forg R T ° g 8iHied Halica J1aT SI1dT 82
(A) O 3mH - (Alternative 1)

(B) O =forgz - (Alternative 2)
(C) O =mmds - (Alternative 3)
(D) O uffyq s7met - (Alternative 4)

Question No.18 1.00

Bookmark
HETH ST AT AT I&eThR dHeHTg el fhaT TaT?

(A) O 1966 - (Alternative 3)
(B) O 1964 - (Alternative 1)
() O 1962 - (Alternative 2 )
(D) O 1969 - (Alternative 4)

Question No.19 1.00
Bookmark
‘Pi-R feheh' e fohe Tt T Hafda 82
(A) O fehdhe - (Alternative 1)
(B) O tpedle - (Alternative 2)
(€) O arefiata - (Alternative 3)
(D) O g1 - (Alternative 4 )

Question No.20 1.00
Bookmark

&feror YR it T St A mar &2
(A) O SrerEgr - (Alternative 2)
(B) O Hgwdt - (Alternative 3)

() O aFmgdl - (Alternative 1)
(D) O wIedara - (Alternative 4)

Question No.21 1.00
Bookmark

=1 7 @ ot a1 Srgeee Yuf & SIfYeR @ Trf-ad 82
(A) O 3rg=< 42 - (Alternative 2 )

(B) O 3rg=ad< 272 - (Alternative 4)

() O argea< 300 (A) - (Alternative 3 )

(D) O 3rg=d< 214 - (Alternative 1)
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Question No.22 1.00

Bookmark

=1 & @ fohe o A SArerge & il i gaffde g &2
(A) O uffyg et - (Alternative 3)

(B) O IR w2 - (Alternative 2)

(€) O affemrg - (Alternative 4)

(D) O =gRIE - (Alternative 1)

Question No.23 1.00

Bookmark
What is included in the definition of minimum wages -

(A) O Bread, Textiles and Houses - (Alternative 1)
(B) O Employment and Investment - (Alternative 3)
(€) O Marriage and Employment - (Alternative 2)
(D) O Cars, Employment and Aubrey - (Optional 4)

Question no.24 1.00

Bookmark
The quantity of thermal energy generated from full combustion of 1 kg of fuel is called-

(A) O caloriginal Value - (Alternative 2)
(B) O Natural Value - (Alternative 1)

(€) O Ideal value - (Optional 4)

(D) O Combustion Heat - (Alternative 3)

Question No.25 1.00

Bookmark
The famous tennis player Rafael Nadal is from which country?

(A) O Croatia - (Alternative 3)
(B) O Spain - (Alternative 1)
(€) O ltaly - (Alternative 2)
(D) O Canada - (Alternative 4)

Question no.26 1.00

Bookmark
Under which article of the Indian Constitution, Jammu and Kashmir has been given special status
status?

(A) O Article 45 - (Optional 4)

(B) O Article 370 - (Alternative 2)
(C) O Article 376 - (Alternative 3)
(D) O Article 49 - (Optional 1)

Question no.27 1.00

Bookmark
Which congregation was founded in 1884 by G. Subramania lyer and Anand Charlu?

(A) O Brahma Sabha - (Alternative 4)
(B) O Spiritual House - (Alternative 1)
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(C) O Madras Mahajan Sabha - (Alternative 3)
(D) O Religious gatherings - (Alternative 2)

Question no.28 1.00

Bookmark
In which chemical reaction does the substance react with oxygen to produce heat?

(A) O Combustion - (Alternative 1)
(B) O Explosion - (Alternative 4)
() O Oxidation - (Alternative 3)
(D) O Upset - (Alternative 2)

Question no.29 1.00

Bookmark
Which of the following is the production of port wine?

(A) O Portugal - (Alternative 1)
(B) O Poland - (Alternative 3)
() O Spain - (Alternative 2)

(D) O England - (Alternative 4)

Question No.30 1.00

Bookmark
Who is called 'Magna Carta of India"?

(A) O Original Duty - (Alternative 4)

(B) O Fundamental Rights - (Alternative 1)

(C) O state Policy Director's Principle - (Alternative 2)
(D) O Preface - (Alternative 3)

Question No.31 1.00

Bookmark
What are the very potential areas of earthquake called?

(A) O Environmental Zone - (Alternative 2)
(B) O Plane Zone - (Alternative 3)

(C) O Richter Zone - (Alternative 4)

(D) O Seismic Zone - (Alternative 1)

Question No.32 1.00

Bookmark
How has the World Bank defined excessive poverty?

(A) O People who live in less than $ 1.5 a day - (Optional 3)
(B) O People who live in less than $ 2 a day - (Optional 4)

(C) O People who live in less than $ 1.90 a day - (Optional 1)
(D) O People who live in less than $ 1 a day - (Optional 2)

Question No.33 1.00

Bookmark
Egg animals are called-

(A) O Viviparas - (Alternative 1)
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(B) O Ovipreses - (Alternative 4)
(C) O Mammal - (Alternative 2)
(D) O Nulliparas - (Alternative 3)

Question No.34

Who is the head of government in the parliamentary system?
(A) O Prime Minister - (Alternative 3)

(B) O Chief Justice of India - (Alternative 4)
(C) O Cabinet Secretary - (Alternative 2)
(D) O President - (Alternative 1)

Bookmark

1.00

Question No.35

Which of the following players was honored with the Rajiv Gandhi Khel Ratna Award 2018?
(A) O Sachin Tendulkar - (Alternative 2)

(B) O Ajinkya Rahane - (Alternative 4)
() O PV. Indus - (Alternative 3)
(D) O Sekhom Meerabai Chanu - (Alternative 1)

Bookmark

1.00

Question No.36

Article 124 of the Indian Constitution deals with:

(A) O Budget - (Optional 4)

(B) O All India Services - (Alternative 1)

(C) O National Emergency - (Alternative 2)

(D) O Establishment and Formation of Supreme Court - (Alternative 3)

Bookmark

1.00

Question No.37

Who was the first woman to get a bachelor's degree from the University of Calcutta?
(A) O Sarojini Naidu - (Alternative 4)

(B) O Kalpana Dutt - (Alternative 3)

(C) O Kadambini Ganguly - (Alternative 1)

(D) O Bina Das - (Alternative 2)

Bookmark

1.00

Question No.38

Which of the following is not included in the group of huge lakes?
(A) O Lake Huron - (Alternative 1)

(B) O Lake of Ontario - (Alternative 4)
(C) O Lake of Athabasca - (Alternative 3)
(D) O Lake Erie - (Alternative 2)

Bookmark

1.00

Question No.39

In 1895 who founded the Natal Congress in South Africa?

Bookmark

1.00
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(A) O Mahatma Gandhi - (Alternative 4)
(B) O Subhash Chandra Bose - (Alternative 3)
() O Jawaharlal Nehru - (Alternative 2)
(D) O Dadabhai Nairobi - (Alternative 1)

Question No.40 1.00

Bookmark
What is the quality of metals called by which they can be beaten to form a thin sheet, what is their
specialty called?

(A) O Resistance - (Alternative 1)
(B) O Malignancy - (Alternative 3)
(C) O Longevity - (Alternative 2)
(D) O Stretch - (Alternative 4)

Question No.41 1.00

Bookmark
Which of the following constitutional amendment is related to the item and service tax (GST)?

(A) O 73st Amendment - (Alternative 2)
(B) O 101st Amendment - (Alternative 3)
() O 42st Amendment - (Alternative 4)
(D) O 74th Amendment - (Optional 1)

Question No.42 1.00

Bookmark
Which of the following categories of race competition includes Baton Exchange?

(A) O 400 meters sprint - (Optional 1)
() © 100m Sprint - (Optional 2)

(€) O Long Jump - (Alternative 3)

(D) O 4x100m Relay - (Optional 4)

Question No.43 1.00

Bookmark
Bugyal, which is the high mountain plain, is found in which state?

(A) O Uttarakhand - (Alternative 4)

(B) O Himachal Pradesh - (Alternative 2)
() O Kashmir - (Alternative 1)

(D) O Sikkim - (Alternative 3)

Question no.44 1.00

Bookmark
Which river passes through Satluj river in India?

(A) O Zorzilla Pass - (Alternative 3)
(B) O shipki Pass - (Alternative 2)
(C) O Thang Pass - (Alternative 1)
(D) O Nathu Pass - (Alternative 4)

Question No.45 1.00
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Bookmark
Which of the following sports also includes floor excercises?
(A) O Football - (Optional 1)
(B) O Gymnastics - (Alternative 3)
(C) O Cricket - (Alternative 4)
(D) O Swimming - (Alternative 2)
Question No.46 1.00
Bookmark
Which of the following is not one of the non conventional sources of energy?
(A) O Coal - (Alternative 2)
(B) O Solar - (Alternative 1)
() O Wind - (Alternative 3)
(D) O Tide - (Alternative 4)
Question no.47 1.00
Bookmark
The Prime Minister of India can use his powers only in consultation with ____.
(A) O Home Minister - (Alternative 2)
(B) O Cabinet Secretary - (Alternative 3)
(C) O External Affairs Minister - (Alternative 1)
(D) O Council of Ministers - (Alternative 4)
Question no.48 1.00
Bookmark

What is known by the name of the site where the endocrine glands secrete hormones in the flow of
blood to reach any particular organ?

(A) O Hormonal site - (Alternative 2)
(B) O Target site - (Alternative 1)
(C) O Blood site - (Alternative 4)

(D) O Endocrine site - (Alternative 3)

Question No.49 1.00

Bookmark
The number of people per 1,000 people who die during a certain period is called -

(A) O Infant Mortality - (Optional 3)

(B) O Maternal mortality rate - (Alternative 4)
(C) O Birth rate - (Optional 1)

(D) O Mortality rate - (Alternative 2)

Question No.50 1.00

Bookmark
In what kind of reproduction does Hydra develop new organisms from Ankur?

(A) O Bi-fragmentation - (Alternative 4)
(B) O Mukulan - (Alternative 2)

() O Conversion - (Optional 1)

(D) O Anthropogenous (Alternative 3)
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Question No.51 1.00

Bookmark
Change the question mark with the option that follows the applied logic in the first pair.
June: July :: Wednesday: ??
(A) O Desk - (Alternative 4)
(B) O Thursday - (Alternative 3)
(¢) O Mango - (Alternative 1)

(D) O Pen - (Alternative 2)

Question No.52 1.00

Bookmark
Change the question mark with the option that follows the applied logic in the first pair.
Waistcoat: Button :: Boot: ??

(A) O Eat - (Alternative 4)
(B) O Laces - (Alternative 2)
(c) O Bag - (Optional 3)

(D) O Tree - (Alternative 1)

Question No.53 1.00

Bookmark
In a certain code language, if ADMIT is written GDIWL, then how will CHEST be written in the same
code language?

(A) O KFHWV - (Optional 3)
(B) O KFAWV - (Optional 2)
(€) O FKAVW - (Optional 1)
(D) O FKHVW - (Optional 4)

Question No.54 1.00

Bookmark
Read the following logic and answer the given question.

A4B is the mother of A, B.
A3B is the father of A, B.
A5B is the sister of A, B.
The A7B is A, B's brother.

Which of the following equations shows that P is the father of S?

(A) O P4Q5R7S - (Optional 1)
(B) O P7Q5R3S - (Optional 3)
(c) O P3Q5R7S - (Alternative 2)
(D) O P5Q5R3S - (Optional 4)

Question no.55 1.00

Bookmark
A man pointing to a boy said, "He is the nephew of my wife's daughter-in-law, whose only sister is a
sister." What does the boy have to do with that guy?
(A) O Son - (Alternative 3)

O
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(B) Grandfather - (Alternative 1)
(€) O Grandson - (Alternative 4)
(D) O Son - (Alternative 2)

Question no.56

assuming the word of the statement as true, it is to decide which conclusions relate to the
statement is logical and logical and logical.

Statement: The Queen has painted her house with blue emulsion.
Conclusion:

i) The Queen has built a new house.

if) Emulsion is cheap from the dumpemper.

Select the correct option from the following.
(A) Only conclusions i is logical.

(B) The only conclusion ii is logical.

(C) The conclusions i or ii are logical.

(D) Neither conclusion nor ii is rational.

(E) i and ii both conclusions are logical.

(A) O C - (Alternative 3)
(B) O D - (Alternative 4)
() O B-(Alternative 2)
(D) O A-(Alternative 1)

Bookmark

A statement in this question and the two conclusions related to them are given in the form of i and ii,

1.00

Question no.57

Select the appropriate picture next to the series from the given options.

- # H# |#

A O

- (Optional 2)

® O

Bookmark

1.00
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# - (Optional 1)
!
) O
!
H - (Optional 3)
(D) O
- (Optional 4)
# I

Question no.58

Choose the next number in the series.
2,8,20,44,927?

(A) O 188 - (Optional 4)
(B) O 182 - (Alternative 2)
() O 184 - (Alternative 3)
(D) O 180 - (Optional 1)

1.00
Bookmark

Question No.59

Change the question mark with the option that follows the applied logic in the first pair.
B:K: E:??

(A) O N - (Alternative 1)
(B) O Q- (Optional 4)
() O 0-(Alternative 2)
(D) O P - (Alternative 3)

1.00
Bookmark

Question No.60

and review the statement based on it.

1.00
Bookmark

In this question, a passage and a statement related to it have been given. Read carefully the verse




Www.prepp.in

It is believed that Sant Nicholas alias Santa Claus lived in Patra, about 300 BC, today's Turkish
(formerly considered part of ancient Greek). He was a great pastor of Myra, who was famous for the
good of the poor and for loving children and giving gifts to the needy. Symbolically, he is depicted as
wearing a red and golden dress of his religious workplace and as a person with a single body. In
pictures they are decorated with traditional halo, which represents their good wishes, as well as a
stick or a bible or both are shown. Here, from the emergence of Santa Claus as a symbol of
philanthropy, from the north pole to the emergence of a famous Saint, he will take a look at the story.

13th century: The great pastor of Nicholas Myra was declared a saint in the first millennium or was
given the title of saint. By the 13th century, a traditional festival was celebrated by the Dutch people
in their honor in which they used to put coins in torn-out shoes outside the homes of the poor. They
used to say that these coins are kept by Saint Nicholas. Over time, Saint Nicholas became
Sinterklaas. To this day, the same official Sinterklaas of the Netherlands have taken shape like a
clergy, in which there is a white and red cloak dress and a high cap with clergy, as well as almost
majestic white long hair and beard. They ride the white horse on the way.

16th century: Saint Nicholas has become popular all over Europe. Now the Dutch Sinterklaas have
become Santa Claus with many hearts. Every year, celebration of Saint Nicholas or Santa Claus is
celebrated on 6 December due to the death anniversary of the true pastor of Myra (no one is
determined in relation to the year, but the date is indisputable).

Statement: Saint Nicholas is popular for his love for children.

Select the correct statement from the given statements
A. The statement is definitely true.

B. The statement is potentially true.

C. The statement can not be determined.

D. Statement is definitely false.

(A) O D - (Alternative 4)
(B) O A - (Alternative 1)
() O C - (Alternative 3)
(D) O B - (Alternative 2)

Question No.61 1.00

Bookmark
Choose the next number in the series.

2,19,53,70,104,?

(A) O 121 - (Optional 1)
(B) O 150 - (Optional 4)
() O 131 - (Alternative 2)
(D) O 141 - (Optional 3)

Question No.62 1.00

Bookmark
How many classes are there in the given picture?
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(A) O 7-(Optional 4)
(B) O 6- (Optional 1)
(c) O 8- (Optional 2)
(D) O 5-(Optional 3)

Question No.63

Bookmark
Four of the following five are equal in a certain way and form a group.
Which one is not related to that group?
C,QSYVE
(A) O Y - (Alternative 1)
(B) O Q- (Optional 3)
(€) O s-(Alternative 4)
(D) O C- (Alternative 2)

1.00

Question No.64

Bookmark
Two statements in this question and the two conclusions related to them are given in the form of i
and ii, assuming the truth of the story of truth is to decide which conclusions relate to the
statements are logical and logical and logical.

Statement: All singers are dancers. All actors are singers.
Conclusion:

i) All actors are dancers.

ii) All dancers are singers.

Select the correct option from the following.

(A) Only conclusions i is logical.

(B) The only conclusion ii is logical.

(C) The conclusions i or ii are logical.
(D) Neither conclusion nor ii is rational.
(E) i and ii both conclusions are logical.

(A) O C- (Alternative 3)
(B) O A - (Alternative 1)
() O B-(Alternative 2)
(D) O E - (Alternative 4)

1.00

Question No.65

1.00
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Bookmark
Carefully read the given information and answer the question.
The six friends M, N, O, P, Q and R are facing each other in the line (not necessarily in this order).
i) P is sitting between M and O.
i) N is sitting at the fourth position from the right of Q.
iii) Q and R are sitting in the last places of the R line.
iv) M and N are not neighbors.

Who is sitting in the second place from the right side of the person who is sitting at the third place
from the left of N?

(A) O 0 - (Alternative 1)
(B) O M - (Alternative 3)
() O R-(Alternative 4)
(D) O P- (Alternative 2)

Question No.66 1.00

Bookmark
Three statements in this question and three related conclusions have been given to them, assuming
the truth of the story of truth is to decide which conclusions relate to the statements are logical and
logical.

Statement: All the ants are the birds. All birds are flies. Some ants are mammals.

Conclusion:

i) All the ants are bees.

ii) There are some mammal birds.
iii) Some flies are mammals.

(A) O I only) and ii) - (optional 1)

(B) O Onlyi) and iii) - (Optional 2)

() O onlyii) and iii) - (optional 3)

(D) O All are rational - (Alternative 4)

Question No.67 1.00

Bookmark
In the given options, select the option that will complete the format of the picture.

D .
&
it
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. - (Optional 2)
A

®) O
O - (Optional 4)
“a‘\x
) O
/> - (Optional 1)
) O
@ - (Optional 3)
Question No.68 1.00

Bookmark
If a mirror is placed on the shaded line, which of the following options is the correct image of the
given shape?

PANDA f
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ADWAY - optionai
®) O
VANAG - ostonan
© O
AAUAY  -opionay)
) O
bYUDY  -mena
Question No.69 1.00
Bookmark
From the given options, select the option that can create a full square. (None of the 5 pictures
given):
- 2 3 4 5

(A) O 1,3and 5 - (Optional 1)

(B) O 3,4 and 5 - (Optional 4)

(€) O 1,2 and 4 - (Alternative 2)

(D) O 1,3 and 4 - (Optional 3)

Question No.70 1.00

Bookmark

In this question, there are two statements showing definite affinity between the letters and the three
conclusions related to them are i, ii and iii. Assuming the statements as truth, decide which
conclusions are completely true in relation to the statements.
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Statement: C<O<U=N;N>S=E=>L

Conclusion:

i) C<E

ii) 0 <S

iii) U> E

(A) O Only iii) - (Optional 3)

(B) O Onlyi) and iii) - (Optional 4)
() O Only ii) and iii) - (Optional 2)
(D) O 1only) and ii) - (optional 1)

Question No.71 1.00

Bookmark
Choose the next number in the series.

12,39, 66, 93,120,?

(A) O 167 - (Alternative 4)
(B) O 145 - (Optional 1)
(C) O 147 - (Alternative 2)
(D) O 157 - (Optional 3)

Question No.72 1.00

Bookmark
Choose the right water image of the questionnaire from the given options.

COYOTE

(A O

COAOLE | optonai

COAOTE ooy

©) O
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COYOLE  -opionar

ATOYOOD  (optionain

Question No.73 1.00

Bookmark
Four of the following five are equal in a certain way and form a group.
Which one is not related to that group?
Uz, RX, TY, BG, MR
(A) O MR- (Alternative 4)
(B) O RX - (Optional 3)
(c) O BG - (Optional 1)
(D) O TY - (Alternative 2)

Question No.74 1.00

Bookmark
In this question, a passage and a statement related to it have been given. Read carefully the verse
and review the statement based on it.
It is believed that Sant Nicholas alias Santa Claus lived in Patra, about 300 BC, today's Turkish
(formerly considered part of ancient Greek). He was a great pastor of Myra, who was famous for the
good of the poor and for loving children and giving gifts to the needy. Symbolically, he is depicted as
wearing a red and golden dress of his religious workplace and as a person with a single body. In
pictures they are decorated with traditional halo, which represents their good wishes, as well as a
stick or a bible or both are shown. Here, from the emergence of Santa Claus as a symbol of
philanthropy, from the north pole to the emergence of a famous Saint, he will take a look at the story.

13th century: The great pastor of Nicholas Myra was declared a saint in the first millennium or was
given the title of saint. By the 13th century, a traditional festival was celebrated by the Dutch people
in their honor in which they used to put coins in torn-out shoes outside the homes of the poor. They
used to say that these coins are kept by Saint Nicholas. Over time, Saint Nicholas became
Sinterklaas. To this day, the same official Sinterklaas of the Netherlands have taken shape like a
clergy, in which there is a white and red cloak dress and a high cap with clergy, as well as almost
majestic white long hair and beard. They ride the white horse on the way.

16th century: Saint Nicholas has become popular all over Europe. Now the Dutch Sinterklaas have
become Santa Claus with many hearts. Every year, celebration of Saint Nicholas or Santa Claus is
celebrated on 6 December due to the death anniversary of the true pastor of Myra (no one is
determined in relation to the year, but the date is indisputable).
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Statement: Saint Sinterclass had long hair and beard.

Select the correct statement from the given statements
A. The statement is definitely true.

B. The statement is potentially true.

C. The statement can not be determined.

D. Statement is definitely false.

(A) O D - (Alternative 4)
(B) O A - (Alternative 1)
() O B-(Alternative 2)
(D) O C- (Alternative 3)

Question No.75 1.00
Bookmark
In a certain code language, if BUSY is written 2211925, how will FORT be written in the same
language?

(A) O 6141820 - (Optional 1)
(B) O 6141920 - (Optional 3)
() O 6151920 - (Optional 4)
(D) O 6151820 - (Optional 2)

Question No.76 1.00

Bookmark
Carefully read the given information and answer the question.
The six friends M, N, O, P, Q and R are facing each other in the line (not necessarily in this order).
i) P is sitting between M and O.
i) N is sitting at the fourth position from the right of Q.
iii) Q and R are sitting in the last places of the R line.
iv) M and N are not neighbors.

Which of the following statements is false as per the arrangement of sitting?
(A) O Mand P are seamless - (Alternative 2)

(B) O 0 s sitting between N and P - (Alternative 4)
(C) O Mis exactly sitting between R and P - (Alternative 1)
(D) O N is sitting fourth from the right of Q - (optional 3)

Question No.77 1.00

Bookmark
In this question, depicts the relationship between the different elements in the statement | two
implications of this statement are as follows:

Statement: A<C<T=0>R>S
Conclusion:

) S<T

liyC>S

following Select the correct option from.
(A) Only conclusions i is logical.

(B) The only conclusion ii is logical.
(C) The conclusions i or ii are logical.
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(D) Neither conclusion nor ii is rational.
(E) i and ii both conclusions are logical.
(A) O A - (Alternative 1)

(B) O D - (Alternative 4)
() O B-(Alternative 2)
(D) O C - (Alternative 3)

Question No.78 1.00

Bookmark
A is the good of B, which is the only son of C. D is the husband of C. What is D's relation to A?

(A) O Dada - (Alternative 1)

(B) O Nanny - (Alternative 2)
() O A) or B - (Alternative 3)
(D) O A) and B) - (Optional 4)

Question No.79 1.00

Bookmark
Carefully read the given information and answer the question.
The six friends M, N, O, P, Q and R are facing each other in the line (not necessarily in this order).
i) P is sitting between M and O.
i) N is sitting at the fourth position from the right of Q.
iii) Q and R are sitting in the last places of the R line.
iv) M and N are not neighbors.

Who is sitting next to the right place of 0?

(A) O P - (Alternative 3)
(B) O N - (Alternative 2)
(¢) O Q- (Optional 1)

(D) O R-(Alternative 4)

Question No. 80 1.00

Bookmark
According to the given picture, on each page of the dice, 6 letters are G, H, |, J, K and L. On which
page will the letter be printed on the page which is labeled J?
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A) O G- (Alternative 2)
B) O K- (Optional 4)

C) O 1- (Optional 1)
)

(
(
(
(D) O H - (Alternative 3)

Question No.81 1.00

Bookmark
Change the question mark with the option that follows the applied logic in the first pair.
2011:12::2551: 77

(A) O 37 - (Optional 1)
(B) O 39 - (Optional 2)
(C) O 41 - (Optional 4)
(D) O 40 - (Optional 3)

Question No.82 1.00

Bookmark
How straight lines are there in the given picture?

(A) O 7-(Optional 2)
(B) O 6- (Optional 1)
() O 9-(Optional 3)
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(D) O 10 - (Optional 4)

Question no.83

Four of the following five are equal in a certain way and form a group.
Which one is not related to that group?

Transfer, Stay, Migrate, Shift, Relocate

(A) O Shift - (Alternative 4)

(B) O Migrate - (Alternative 2)

(C) O stay - (Optional 3)

(D) O Relocate - (Alternative 1)

1.00

Bookmark

Question no.84

Choose the next number in the series.
2,11, 29, 56, 92,?

(A) O 137 - (Optional 3)
(B) O 136 - (Alternative 2)
() O 140 - (Alternative 4)
(D) O 135 - (Optional 1)

1.00

Bookmark

Question no.85

How many right angled triangles can be made from the given shape?

O 7 - (Optional 3)
O 5-(Optional 1)
O 6 - (Optional 2)
O 8- (Optional 4)

1.00

Bookmark

Question no.86

Bookmark
The first part of the Franklin race determines the speed of 630 mph and the second part at a speed

of 945 mph. Find the average speed of both parts (mph-miles per hour).
(A) O 762 - (Alternative 4)

(B) O 758 - (Alternative 2)
() O 760 - (Alternative 3)
(D) O 756 - (Optional 1)

1.00
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Question No.87 1.00
Bookmark

Instructions:
Study the graph below and answer the question based on it. The number of vehicles manufactured
by the company X and Y, from 2001 to 2006, has been given (in thousandths).

What is the difference between the number of vehicles produced by Company X in the year 2001 and
2002?
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(A) O 4 - (Optional 2)
(B) O 3-(Optional 1)
() O 5-(Optional 3)
(D) O 6- (Optional 4)

Question no.88 1.00

Bookmark
A certain amount is divided into 2 parts in the ratio of 6: 5. If the first part is Rs.282, then find the
total amount (in Rs.).

(A) O 521 - (Optional 3)

(B) O 517 - (Alternative 1)
() O 523 - (Alternative 4)
(D) O 519 - (Alternative 2)

Question No.89 1.00

Bookmark
Rs. 5,100 was invested for 4 years at an annual rate of 13% on ordinary interest. Find the amount
received in interest (in rupees).

(A) O 7,762 - (Optional 2)
(B) O 7,782 - (Optional 4)
(c) O 7,772 - (Optional 3)
(D) O 7,752 - (Optional 1)

Question No.90 1.00

Bookmark
To be successful in a competition, Jdmglin needs to score an average of 75 in 4 exams. The scores
of the previous three exams are 72, 68 and 64, respectively. To succeed in the competition, how
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much will he have to score in the fourth test?
(A) O 99 - (Optional 4)

(B) O 97 - (Alternative 2)

() O 98- (Optional 3)

(D) O 96 - (Optional 1)

Question No.91 1.00

Bookmark
The width of the rectangle is 230 cm and its diagonal is 598 cm. Find the circumference | (in cm)

(A) O 1594 - (Optional 1)
(B) O 1574 - (Optional 3)
() O 1564 - (Optional 4)
(D) O 1584 - (Alternative 2)

Question No.92 1.00

Bookmark
Instructions:
Study the graph below and answer the question based on it. The number of vehicles manufactured
by the company X and Y, from 2001 to 2006, has been given (in thousandths).

The difference between production between Company X and Company Y was the lowest of which
year?
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A) O 2004 - (Alternative 3)
B) O 2002 - (Alternative 1)
C) O 2003 - (Alternative 2)
D) O 2005 - (Alternative 4)

A~ A~ A~ o~

Question No.93 1.00

Bookmark
Find the value of X:
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V/(90-x) =+ (40 +/81)

A) O 51 - (Optional 3)
B) O 45- (Optional 1)
C) O 41 - (Optional 4)

(
(
(
(D) O 61 - (Alternative 2)

Question No.94 1.00

Bookmark
The price of LPG cylinder increases from Rs.688 to Rs.860. How many percent reduction in

consumption should not change the amount spent on LPG cylinders? (% In)
(A) O 35- (Optional 4)
(B) O 25 - (Optional 2)
() O 30 - (Optional 3)
(D) O 20 - (Optional 1)

Question No.95 1.00

Bookmark
The face value of a book is Rs.4,600, a book seller offers 10% discount on it. After that, it also has a

benefit of 20%, then find the purchase price of the book (in rupees).
(A) O 3650 - (Alternative 3)

(B) O 3450 - (Optional 1)
() O 3550 - (Alternative 2)
(D) O 3750 - (Alternative 4)

Question No.96 1.00

Bookmark
The ratio of the sides of a quadrangle plane is 2: 3: 4: 5, and the perimeter is 658 cm. Find the value
of the smallest arm (in cm).

(A) O 93 - (Optional 1)
(B) O 94 - (Alternative 2)
() O 95- (Optional 3)
(D) O 96 - (Alternative 4)

Question No.97 1.00

Bookmark
The average of 7 numbers is 152. On removing a number, the average remains unchanged. Find out
the number deleted.

(A) O 150 - (Optional 2)
(B) O 149 - (Optional 1)
() O 152 - (Optional 4)
(D) O 151 - (Optional 3)
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Question No0.98 1.00

Bookmark
Explain the amount received from compound interest (in Rs.) On the amount of Rs.17,500 for 2
years at an annual rate of 10%.

(A) O 21,475 - (Optional 4)
(B) O 21,175 - (Optional 1)
() O 21,375 - (Optional 3)
(D) O 21,275 - (Optional 2)

Question No.99 1.00

Bookmark
A shopkeeper bought an item in Rs.240, and sold it in Rs.300. Find the profit percentage. (% In)

(A) O 20 - (Optional 1)
(B) O 30 - (Optional 3)
() O 25 - (Optional 2)
(D) O 35- (Optional 4)

Question No.100 1.00

Bookmark
The average weight of eleven players of the state level cricket team is 109 kg. On joining the coach,

the average weight of the team increases by 1kg. How much is the weight of the coach (in kg)?
(A) O 121 - (Alternative 2)

(B) O 125 - (Alternative 4)
() O 123 - (Optional 3)
(D) O 119 - (Alternative 1)

Question No.101 1.00

Bookmark
Of the 120 soaps placed in a box, 36 have been used. What is the percentage of soaps left in the
box? (% In)

(A) O 80 - (Optional 3)
(B) O 85- (Alternative 4)
() O 70 - (Optional 1)
(D) O 75- (Alternative 2)

Question No.102 1.00

Bookmark
2
Find the area of the equilateral triangle whose side is 108 cm. (Incm )

(A) O 2917v3 - (Optional 3)
(B) O 2916v3 - (Optional 2)
() O 2918v3 - (Optional 4)
(D) O 2915v3 - (Optional 1)

Question No.103 1.00

Bookmark
A shopkeeper bought an item in Rs.435, and sold it in Rs.348. Find the percentage of the loss. (% In)

(A) O 30 - (Optional 3)
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(B) O 20 - (Optional 1)
() O 25- (Optional 2)
(D) O 35- (Optional 4)

Question No.104 1.00
Bookmark
The value of 25% of 66.67% of 75% of 80% of any number is 6361. Find the value of 40% of that
number.

(A) O 26444 - (Optional 4)
(B) O 23444 - (Optional 1)
(C) O 25444 - (Optional 3)
(D) O 24444 - (Optional 2)

Question No.105 1.00

Bookmark
A train gets 42 seconds to cross the signal located at one end of the 473 m long bridge. If the train

takes 85 seconds to cross the bridge, then the length of the train (in mtr) is known.

(A) O 462 - (Optional 1)

(B) O 468 - (Alternative 4)
(C) O 464 - (Alternative 2)
(D) O 466 - (Alternative 3)

Question No.106 1.00

Bookmark
How much will the balance be divided if divided by 9 7531?

(A) O 3-(Optional 4)
(B) O 5-(Optional 2)
() O 4-(Optional 3)
(D) O 7 - (Optional 1)

Question No.107 1.00

Bookmark
Simplify:

1/(9+1/(34+1/(193+1f 1024)))

(A) O 5-(Optional 2)
(B) O 7-(Optional 3)
(c) O 4 - (Optional 1)
(D) O 8- (Optional 4)

Question No.108 1.00
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A train crosses a signal at 13 m at a speed of 63 m / s. Find the length of the train (in mtr).
(A) O 819 - (Alternative 2)

(B) O 823 - (Optional 4)
(c) O 821 - (Optional 3)
(D) O 817 - (Alternative 1)

Bookmark

Question No.109

2
Find the area of the square of which its diagonal is 103 cm and 104 cm. (Incm )

(A) O 5326 - (Optional 1)
(B) O 5366 - (Optional 4)
(c) O 5356 - (Optional 3)
(D) O 5346 - (Alternative 2)

1.00
Bookmark

Question no.110

Simplify:

120-[450-(90+10-(35-300+12)+10)]

(A) O 344 - (Optional 4)
(B) O -344 - (Optional 3)
() O 322- (Optional 1)
(D) O -322 - (Optional 2)

1.00
Bookmark

Question No.111

Simplify:

(19x30x19x30)+((2(+/900+2)))?

(A) O 512 - (Optional 1)
(B) O 361 - (Optional 3)
() O 324 - (Alternative 2)
(D) O 484 - (Optional 4)

1.00
Bookmark
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Question no.112 1.00

Bookmark
For a fixed amount, the interest received after 5 years at an annual rate of 12% on ordinary interest is
Rs.6,060. Find the amount invested (in rupees).

(A) O 10,200 - (Optional 4)
(8) O 9,800 - (Optional 1)
() O 9,900 - (Optional 2)
(D) O 10,100 - (Optional 3)

Question No.113 1.00
Bookmark
The ratio of the alpha and beta to age is 2: 5. If their age is 294, make the difference between their
age.

(A) O 126 - (Alternative 4)
(B) O 124 - (Optional 3)
(c) O 122 - (Alternative 2)
(D) O 120 - (Optional 1)

Question No.114 1.00

Bookmark
The price of a piece of metal increases from Rs.405 to Rs.486. Find the percentage increase. (% In)

(A) O 15- (Optional 1)
(B) O 30 - (Optional 4)
() O 25- (Optional 3)
(D) O 20 - (Optional 2)

Question No.115 1.00

Bookmark
Two numbers C. (Smallest family life) and M. C. (Greatest common divisor) is 132 and 22

respectively | the number of them is 132, to determine the second number |
(A) O 66 - (Optional 1)

(B) O 22 - (Optional 3)

() O 33-(Alternative 2)

(D) O 11 - (Optional 4)

Question no.116 1.00

Bookmark
Pen, Pencil, and Rubber in a box are in proportion to 3: 2: 1. If the value of each pen, pencil and

rubber is Rs.3, Rs.2 and Rs.2, respectively, and the total amount spent on the entire box is Rs.675,
then find out the number of pen in the box.

(A) O 135 - (Optional 1)
(B) O 136 - (Alternative 2)
(c) O 138- (Optional 4)
(D) O 137 - (Optional 3)

Question No.117 1.00

Bookmark
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If X =0.72444444 is ...... , then find different value of X.
(A) O 652/990 - (Optional 1)

(B) O 65/99 - (Optional 3)

() O 652/900 - (Alternative 2)

(D) O 63/99 - (Optional 4)

Question no.118 1.00

Bookmark
Which of the following is divisible by 15?

(A) O 74255 - (Optional 4)
(B) O 74345 - (Optional 1)
() O 74365 - (Optional 2)
(D) O 74355 - (Optional 3)

Question No.119 1.00

Bookmark
Instructions:
Study the graph below and answer the question based on it. The number of vehicles manufactured
by the company X and Y, from 2001 to 2006, has been given (in thousandths).

Find out the difference between the total production of both companies in the given years.
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A) O 170 - (Optional 4)
B) O 167 - (Optional 1)
C) O 169 - (Optional 3)

(
(
(
(D) O 168 - (Alternative 2)

Question No.120 1.00

Bookmark
Selling an item in Rs.544 is a loss of 15%. Find the purchase price of the item (in rupees).
(A) O 638 - (Alternative 3)

(B) O 632 - (Optional 1)
(€) O 634 - (Alternative 2)
(D) O 640 - (Alternative 4)
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